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1 SHXITHRT (2f@RT) D@L=30x2{@FT=6.0m W=100m A=3.0x%10.0% 2{EfT=60.0m
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(1) ASEHZEYIET t=10cm 10 x 2 x 2{@FF=40m

(2) SHEMBER t=10cm A=60.0m

(3) ASEREHk 0.1 x60.0=6.0m

(4) #EHI 0.4%60.0=24.0m

(5) LHEEH V=60.0x04=240m

(6) EEEEIE A=600m

(7) TRBEL (BEU7vPv—32 RC-40)t=25cm A=60.0m
(8) LIEMRAET (MIFAMHE M-40)t=15cm A=60.0m

(9) &£E BEMAIEQ0) t=5cm A=60.0m

(10) &E BAEFEHEQOF) t=5cm A=60.0m

(11) W4 E (ASHE) 6.0x2.3=13.8t



2 FA—N—LAL KRE BEENEQOF) t=3cm (1)
@ L=200m W=80m A=160.0m
@ L=1000m W=80m A=800.0m
@ L=1200m W=80m A=960.0m
@ L=1200m W=80m A=960.0m

2 L=360.0m W=80m X A=2880.0m

3 TRI7IMNHETL (BIFEH) RE BEEMENIF) t=3cm (1Y)
® F#HL=320m FHW=21.0m A=672.0m
4 REHR
(1) SMEER-BEIES RAUMK(EHK) EHR 15cm
ITHROD 6.0 % 2+F —/\—LAD~@360.0 X 2+EFE15.5.0 X 5K+12.0 X 3A&+5.0 X 7K =828.0m
(2) iR RAVPR (BHR) B 150m
@/2 =60.0m
(3) iR B (FH) KR 08 30cm HR
TH(D26.0+D~3240.0 =246.0m
(4) X BREX (FH) 15cm BE
F—N—LAOHERM2MERT KE1 7.5 3{EFT =22.5m



